1. what is difference between ANSI structure and C99 Structure?
2. what is the size of an empty class
3. int a[3][5]={ {1,2,3,4,5],{2,3,4,5,6},{10,11,12,13,14}}; int *p=&a; printf(“%d”,*(*(x+1)+3));
4. What is period operator in c?
5. what is data structure.in linear and non linear data structures which one is better?Explain
6. what is the difference between javap and jad utility
7. can we create and enter the data & hide files using programmes ?
8. what are the realtime excercises in C++?
9. #define CUBE(x) (x*x*x) main() { int a,b=3; a=cube(b++); printf("%d %d",a,b); } What should be the value of a and b? My calc a=4 but syst a=6 how pls tell me if you know it?
10. difference between the c++ and c languages
11. A.C func() { pritnf(" in fuction %d",MACRO); } MAIN.c testfunc() { #define MACRO 10 printf("in test function %d", MACRO); } main() { printf("in main %d",MACRO); func(); testfunc(); getch(); }
12. int main() { int x = (2,3,4); int y = 9,10,11; printf("%d %d",x,y); } what would be the output?
13. void main() { static int i = 5; if(--i) { main(); printf("%d \n",i); } } what would be output of the above program and justify your answer? }
14. what is difference between procedural language and functional language ?
15. what is the similarities between. system call and library function?
16. Diffrernce Between Overloading and Overriding?
17. Whether there can be main inside another main?If so how does it work?
18. difference between malloc and calloc
19. what is c programming
20. how to find the largest element of array without using relational operater?
21. who is first prime minister in india??
22. wt is d full form of c
23. Write the program for fibonacci in c++?
24. write program for palindrome
25. how to swap two numbers in a linked list without exchanging the data but only the links?
26. what is use of for loop?
27. write a c program to find biggest of 3 number without relational operator?
28. what is the disadvantage of using macros?
29. What does the code "cout<<(0==0);" print? 1) 0 2) 1 3) Compiler error: Lvalue required
30. given post order,in order construct the corresponding binary tree
